POTTERYBARN

Farmhouse Bed - Full
Assembly Instructions

Pre-Assembly:
¢ Please read all instructions carefully before beginning assembly.

¢ For your safety and convenience, assembly by two people is required.

¢+ Remove all parts and hardware from packaging and identify by comparing to
lists below. Do not discard any contents until assembly is complete to avoid

accidentally discarding any parts or hardware.

Parts Enclosed:

BOX 1 BOX 2 BOX 3 ]
*+ (1) Headboard + (1) Footboard *+ (2) Siderails
(1) Slat roll

with Crown with o
P Crown attached ¢ (1) Hardware packet containing

] | ()

Allen key M6 = 1 x Screw 1" =34 x

Required for Assembly: -:E(Z{O
ncluded)

¢ Phillips Screwdriver (Not 1

Assembly Instructions:

1. Determine the desired height of the siderail lips. The lips have been
pre-attached to the lower position (boxspring level) on each side rail.
Lips may be adjusted to the higher position (platform level — makes
boxspring optional) by removing the Allen bolts with the enclose Allen
Key (A) and re-attaching lips to the higher set of pre-drilled holes.
Re-tighten bolts. Caution: The lips on both siderails must be affixed

at the same height.

SIDERAIL LIP

Step 1. Determine siderail

Boxspring Platform level




2. Determine if canopy is being used for bed.
IT canopy IS being used: Stop here and revert to separate assembly
instructions packaged with Canopy. (Separate Box)
IT canopy is NOT being used: Continue to Step 3.

Step 3. Attach

Step4. Install

\

5. Periodically tighten all connections.
6. Assembly is complete.

Care Instructions:
¢ Wipe with a clean, soft cloth.
¢ Avoid all chemicals and harsh cleaners.

thank you for your purchase
stores | catalog | www.potterybarn.com

Page 2 of 2



POTTERYBARN

Farmhouse Bed — Queen, King, California King
Assembly Instructions

Pre-Assembly:

= Please read all instructions carefully before beginning assembly.

=  For your safety and convenience, assembly by two people is required.

= Remove all parts and hardware from packaging and identify by comparing to lists below. Do not discard any
contents until assembly is complete to avoid accidentally discarding any parts or hardware.

Parts Enclosed:

BOX 1 BOX 2 BOX 3
= (1) Headboard with = (1) Footboard with = (2) Siderails = (1) Center rail
Crown pre-attached Crown pre-attached = (2)Slatrolls = (6) Support legs

=  Hardware packet containing the following:

Ve

= - B.
, P
LI a Kfv.‘-—.\)

N
i ﬁ ()
N ST

Allen bolts 1/4" DIA x 1/2" = 4 x

Allen bolts 1/4" DIA x 2" =6 x

C. — D. I
Ry 7N [ ] ™
il l:] r\L___J = -“..WJ.T.-,{\'_L] < .
Screw 1.25"= 64x for Queen, King size™
Allen bolts 1/4" DIA x 3.5" = 1 x = 68x for calking size*
E.

C

E

Allen key M6 = 1 x

Required for Assembly:
= Phillips Screwdriver (Not Included)

Assembly Instructions:

1. Determine the desired height of the siderail lips. The lips have been pre-attached to the lower position
(boxspring level) on each side rail. Lips may be adjusted to the higher position (platform level — makes
boxspring optional) by removing the Allen bolts with the enclosed Allen key (E) and re-attaching lips to
the higher set of pre-drilled holes. Re-tighten bolts with Allen key. Caution: The lips on both siderails and
the center rail (Step 4) must all be affixed at the same height.

Step 1. Determine siderail lip height.

Platform level

i\

. \N

Boxspring level

= = ]

)

Page 1 of 4



2. Determine if canopy is being used for bed.
If canopy IS being used: Stop here and revert to separate assembly instructions packaged with Canopy.
(Separate Box)
If canopy is NOT being used: Continue to Step 3.

3. Attach side rails to headboard and footboard by inserting hooked ends into the corresponding slots. Apply
downward pressure and ensure connections are secure.

Step 3. Attach side rails

4. Determine the correct center rail height by reviewing the selected side rail heights. (Step 1) For lower position
(boxspring level) attach the (3) shorter support legs to the center rail. Insert the %4” x 2” Allen bolts through
the pre-drilled holes on the top side of center rail and into the shorter legs. Tighten with Allen key (E). For
higher position (platform level) attach the (3) longer legs. The unused set of legs can be attached to the
bottom side of the center rail for storage. Align them horizontally and attach with the single %" x 3.5” Allen
bolt. (C)

5. Attach center rail to headboard and footboard by aligning end plates with corresponding pre-drilled holes.
Insert the %"”x % ” Allen bolts (A) and tighten with Allen key (E). Levelers on bottom of support legs can be
adjusted for uneven floors by turning until contact is made with floor.

Step 4. Determine center rail height Step 5. Attach center rail to headboard & footboard. Adjust levelers if needed.

i

I —~
o - J - c ™~
el bl
longer leg i { e A
| |

6. Layslat rollsin place over center rail and siderail lips. Attach by inserting the Phillips screws (D) through pre-
drilled holes and tightening with Phillips screwdriver (not included).

Step 6. Install slat rolls

Page 2 of 4




7. Periodically tighten all connections.
8. Assembly is complete.

Care Instructions:
=  Wipe with a clean, soft cloth.
= Avoid all chemicals and harsh cleaners.

Page 3 of 4



thank you for your purchase
stores | catalog | www.potterybarn.com

Page 4 of 4



	Farmhouse Bed - Full
	Assembly Instructions

	c27d7fa0-89f1-4c94-b900-b04ec0447248.pdf
	Farmhouse Bed – Queen, King, California King
	Assembly Instructions



